ECE 473 - Embedded Systems 
Homework #1

Due Sept. 30, 2002

The following problems are from Chapter 1 of Embedded Microcomputer Systems – Real Time Interfacing 

Problem 1.1 
Problem 1.3 
Problem 1.6 (parts a) and b) only) 
Problem 1.7 
Problem 1.9 
  

Supplemental Problem: 

Assume all chips for this problem have the following characteristics: 

    IOH = -10mA, IOL = 50mA 
    IIH = 0.5mA,  IIL = -1.0mA 
    ICC = 60mA 
  

a. How many inputs can a single output drive under worst-case conditions?  Show your work. 

b. Say one of these chips has four outputs and each is low.  Explain how ICC can be only 60mA when each output pin has an IOL of 50mA. 

c. Draw a diagram showing the direction and amount of current flowing along each wire for a high (logic 1) output connected to five inputs. 

d. Draw a diagram showing the direction and amount of current flowing along each wire for a low (logic 0) output connected to five inputs. 


  

